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Far cach problem, find the average rate of change of the function over the given interval.

© LA V-V

D f)=x+x-1; [2,-2
) =2 +x-1; -2, 2 Yo~

1, 53
2) f{x]=;. [-2, 2]

R

..:';,I_%. = ! ;f' E__
TG e
—-__Ij, H‘ k : “— aa . _:?

3) flx)=x*—x—1; [J,E] _ ot 8 flx)==x*—x+1; fz,l]
il S (D) 3
112 13 0 DF
. 't{ '!q)"‘f-%?r"c;"]'i&: |

5) f'[x}_-.ixz—lx-l; “.%] '-h - ‘/l i 6) f[‘__-r:|=rll: [__41_%:[

LY== -F=-1 %z~
L (¥py:-a0h7 236 a @

I S S S S
N H=—7% ii 7] _._{_f_ 2 ¥ S =-—p -]
-Pt"'\i __-:'—*:?33 =S :‘l"_"-__%: f‘q

Sy g
L(-92)- PR ?:h
9) The police have accused a driver of breaking the speed limit of 60 miles per hour. As proof, th
provide two photographs. One photo shows the driver's car passing a toll booth at exactly 6 PM.
The second __D_i_]:_ll_l} shows the driver's car passing another toll both down the highway at
exactlyf6:30 PM Does the photo evidence prove that the driver brake the speed limit during this

Y
WD = 3\ Spaud=M - :%l: Lamoh
¢ lbpm- kb~ = Ya houe | h &
| i (lur W Apesding. e hao §EY
lb 9mph nhiehh ko oo fhem LONON.

time?
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Name: Date:

Linear Functions Practice Problems

2 ;
1) For y = 3 X =6 which value represents the average rate of change of a line parallel to the equation,

A > D~
3 B. -3 C.—6 >

2)For2y —13x = 6, which value fepresents the average rate of change of a line normal to the equation.

QY= 12+ perpevoLlLdon
« F P, 13 1 " 13
“Byn M 5 15 p 23

i ! 3
3) Which is an equafion of the line normal toy=1- 3 ¥ and passes through (3, 4)?

—4"%(:(—3)4 m—:_%
4 3 25
T O N P e
"”-7,\,'/(“4
V-4
?&) Which is an equation of the line parallel to 4y —7x =8 and passes through (-4, 0)?
Uy=A+8 J
Y=%x+4 7
B~y =-7x-28 ,Q(Pz*zx“'? By =Tx+28
S

Write the general form of a line for each function.

4 S>S-=
5)y=§x—7 & 6)y—l=2(/:_—\2)
'—%)ﬂ +-7 Y-l=a.x- 4
AR Y

By e
VT r10 V-ax+3=0

Write the slope-intercept form of a line for each function.

Y=mxtb
6)y+3= -w) 7) 4)*1—_771; =+§/,\
| Y+3=<x-10 Y
_..?) -3 = /_}.
- -5 x-1% V=7 x+3 )
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@ Functions, Domain, and Range - Worksheet

1) Which graphs represent functions? Justily your answer,

O

i:_'&
oy
D

2) Is each relation a function? Explain and make a rough sketch of the graph of each.

a)y=x-5 Y,U_) b)y=2(x—-1)2-2 \/‘E.D E]x2+}’24=4 MO
) Lo fehdn  Quadrotie FUEho® (il

Y= £ -x*4

T o

3) State the domain and range. Represent as a table and graph. Then state if it is a function.

y

a) {(-5,4), (-4,-1), (-2, 1), (0, 4), (1, 3)} x y ¢ 4|
_—y =54 $
omaln: _-q __,l‘ )
2-5-4,9,0,3 B X
Range: D 1{
| 195
._) 24)*_';‘;‘1',8}

Is this relation a function? 9)‘0 '
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b) {(-3,-4), (-1, 2), (0, 0), (-3,5), (2, 4)) x y
Domain: "b -4
2 5l
-5! "\] OJ 33 D h
Range: -3 15
2 1

2 -4,8,0, 549

Is this relation a function? UOI

4) State the domain and range of each relation. Then state if the relation is a function.

a)

yexea /¢

Vo Fumehon

" ]
o
2 X

b A 7 0

Y

h]

e

k.

Erd

Pt

y=Ixl ‘FJLUV"OJHOG

D

i
-
. .

v °

oy owewms

-
|2

i

4 x

Not o Lomckon

, -2

4y

Fr ey D xzO
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0dds ony !
Evaluating Functions

Evaluate cach function.

1) #(0)= [¢+2] + 3; Find (6)

he) =\ e1a\42 = |

3) wit)=-21+ 1; Find wi(=7)

WEND=-3(-N+\ = \§

5) hln)=-2n% + 4; Find h(4)

h(a):z - a(a)Yd =-a9

7) f(x)=x* - 3x; Find f(-8)

8= ()29 =388

92 ple)=4r - L{SCFmd p()f )S
t-3)=4(¢t-2
P “§é-3 -5

= HEe-1
11) wln) =4n + 2; Find w(3n)
W(%n) = 4(3n)+a

“lanra

13) h(x)=4x-2; Find h(x + 2)
Nixra) = 4(x+3)-Q
=Y x +8-2.
Hx ¢
15) gln) =n® - 5n*; Find g(—4n)
3CA4n)=(-40)>- 504>

= 04N> 50un)

(v-4)(x- fﬂgﬂ ;(,)) -3"%, Find h(4 +1)

= =G4 N3
17) pla)=a’ —.‘?Fmppé?)@
plx-4) = (x-4)

Name,

Date

2) gla)=3"""; Find g(1)

4) glx)=3x- 3;Find g(~6)

6) A(t)==2-5"""; Find h(=2)

8) pla)==4""; Find p(-1)

10) g(a) = 4a; Find g(Za) )

12) wla) = a+ 3; Find wla + 4)

14) k{a)=—4""*2: Find ka —2)

16) f(n)=n*—~2n; Find f(n?)

= 8% lbx -Lm v2ax -4 S

= X2 13X2 1 48 x- 6,9

|
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Difference qQuotient revjew ‘p ( i ) ' ’P (ﬁ)
A e
d h
1) Given f (x) = 4x2, find the difference quotient.

(YH0)3 - Yx3 Ylx3aunt oD -d a7 4te i b4

h h ~
R b +40>  h(@xtdn) _ gy Ly
n M

2) Given f(x) = 2¢? - e difference quotient. a
d (xrh )a*m )ﬁ ’ﬁﬁnﬁ?\' ) ngﬁ_g_b_f_hﬂf X-h -3 XX
e —— = h

o) )

2l | e
e Ch Hﬂhfg‘h -
~ W F— e, )
h

= L]Xa +a\n - |

b ( )tha:: [x e (x+h) (x+h

- (xyn) (FFadh th?)
3) Given f(x) = 9 — 2x3, find the difference quotient. - 23+3x°h +3xh? +h3

A .
[ ): Q.5 (x2sDAh_to4h° 2) -
) A 133 Z Ay- xh*-ah3
AN oM o - .
Y
o= h i
B hi;@x""“— fﬂ%h-&ha): -L 2 pxh-3h
\h .
[ |
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Name: =~~~ - Date: =
Unit: Functions CW: Finding the Domain ,\Igchrnicnlly

Directions: l-mra"i algebraically fr'u: domain of each function. Restrict the domain wherever

possible. Od o ( \ ’[\ j
Q9

D d(y)=y+3 2) g(k) =2 + 4k -6

L
meon)
3)bm)=2n-8 4) m(r) =J9-3

dn-8 >0

Y&  3Q
_-——"""""'--—--_.._

02> g
=

S) IJ(I :—"____ .
)= ead 6) a(r}:H—LI
I'—

Ry 8 gn =
W =23
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*11 (x) = —=
)f(."")_\’,'\—-‘-a

X+3 >0
X>-3

9) 5,‘(.\'): l': ——2_\‘._

*0dds ANy l

10

—_——

13)h(x) = A/x* —dx -5

Xy x-5

20

(¢-5)(x+)Z20

X-5 20
xZz5

-+ ‘SWi'M’h
Y\ £ OA/

X<-]

10) hix)=  —12x+35

12) ((v)=vv* +2v -8

14) fx) =

NCEY!
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